
GREENWALD INDUSTRIES 
212 Middlesex Avenue  l  Chester, CT 06412 USA  l  Tel: (860) 526-0800  l  Fax: (860) 526-4205
Toll-Free Tel: 1-800-221-0982  l  Toll-Free Fax: 1-800-445-1340
www.greenwaldindustries.com 

United States & Canada Customer Service & Technical Assistance: 
Monday–Friday, 8am to 5pm EST.

Contents, specifications and availability are subject to revisions serving the technical improvement.  
Not responsible for any typographical errors. a division of The Eastern Company

V13 Coin Chute/Slide
Item	 Description	 # Required	 Part Number
1	 SCREW M3.5x12	 2	 00-7924

2	 SCREW M2.5x6 FL HD	 2	 00-7943

3	 TOP HOUSING	 1	 21-3032

4	 COIN RETAINER	 1	 00-8172

5	 SHIM	 2	 21-2026

6	 SIZING PLATE, $.20	 4	 21-2030-6

7	 SIZING PLATE, $1.00	 2	 21-2030-5

8	 SIZING PLATE, $2.00	 1	 21-2030-3

9	 SIZING PLATE HOUSING	 1	 21-3004

10	 BODY CASTING	 1	 21-3030

11	 COIN SLIDE	 1	 21-3031

12	 SCREW M3x13	 2	 00-7942

13	 INSERT, $2.00	 varies	 21-3002-1

14	 INSERT, $.20	 varies	 21-3002-2

15	 INSERT, $1.00	 varies	 21-3002-3

16	 BLOCKOUT KEY	 varies	 21-5000

17	 SLIDE DECAL, BLANK	 1	 00-9104-16

18	 SPACER BLOCK	 1	 21-5001

19	 RATCHET DOG POST	 1	 20-4005

20	 RATCHET DOG SPRING	 1	 00-8123

21	 SLIDE RATCHET DOG		  20-2041

22	 BUFFER PLATE	 1	 21-2021

23	 SCREW M3.5x7	 3	 00-7923

24	 COMPARTMENT COVER	 1	 21-2024

25	 SLIDE STOP	 1	 20-2039

26	 SPRING PROTECTOR	 1	 21-2038

27	 SPRING	 1	 21-2025

28	 SCREW M3.5x4	 2	 00-7931

29	 DOG SHAFT	 1	 20-4004

30	 SLIDE STOP DOG	 7	 20-2011

31	 CASTING DECAL, BLANK	 1	 00-9950-10

32	 RACK	 1	 20-2023

33	 GATE	 1	 21-2022

34	 LOCATING SCREW	 4	 00-7483

35	 GATE COVER	 1	 21-2027

36	 SLIDE RETURN SPRING	 1	 00-8148 


